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November 17, 2003
1.  At the Pre-proposal conference, we were advised to download and consider the revised workload data in the reference library.  We have done so and began our analysis with the conferencing data because that area is clearly a staffing and cost driver.  Our analysis revealed some apparent inconsistencies, i.e., The Conference Meeting Size, Frequency chart totals 1114 conferences; however, the line charts total 1079 - a difference of 35 conferences.  This delta clearly has staffing and cost implications.  Accordingly, we spent a considerable time assessing the entire workload data provided to ensure consistency.  We did not want to be in a position that one set of data would produce certain staffing and cost drivers, while another set of data would produce different results. It was essential to complete this critical analysis because resulting decisions would flow throughout our entire solution and proposal, and this had to be at the expense of developing the performance based solutions in as complete a manner as is necessary.
ANSWER:  On the chart in "TISBbyfunction2.pdf" for conference data there is a missing number for the period Mar-Aug of Year 1 (42 offsite meetings for Goddard) and an error in the conference data for the period Sept-Feb of year 5 the total number of meetings for Goddard is 64 (35 meetings offsite) and the total number of meetings for HQ is 59 (16 offsite). Additionally, the columns of Goddard and HQ meetings in "confdetail2.pdf" did not total correctly. When totaled correctly there were 700 meetings for Goddard and 650 for HQ. The total meetings for both charts agree once these errors are corrected.
With the changes noted refer to these two charts ("TISBbyfunction2.pdf" and "confdetail2.pdf") for data. The "TISBcharts2.pdf" file is intended to depict the seasonal fluctuation of conference work and it appears the data is shifted by a month in some cases.
2.  In the Proposal Library, the newWKLD.pdf file under Workload Data, Printing Management, states, "Contractor will be responsible for approximately 1/3 of this production". Does this 1/3 include the last line of this matrix, "Current number of Printing Specialists handling workload"?
ANSWER:  This chart should be interpreted to mean that while the total workload is now carried by 2 specialists, with the contractor support, the same workload will be shared by 3 workers.
